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MAT 114-EDA: Foundations of Mathematics for Educators - EXAN | Prof. Mantell
Show relevant work, answers without support may receive little or no credit.

1. a) Imagine a stack of cans in the shape of a triangle where each row has one less can than the row
below it, so that there is eventually only one can on top (the image shows this for 5 rows of
cans). How many cans would it take to build such a triangular stack with 50 rows? (4 points)
Do not do this the long way!!! ;
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b) 1234+1235+1236+...+2020 (5 points each)

Led x=|2344H235+--+201t2022 -
+ X= 2020 +20(9 Leav L1225 CEE T HUW ey «

= g i e S
ZRE (2732549 S Xx=181 iz- f.(—:__[ 1‘2,30)4,‘{,.91]

g 3+6+9+..499 = 3 (I1+2 43 ++-- +333)
Led W43 4 et 333532 ¢ 288
F e HE NP2, o 33 e BT = B AR
= 2X =334 3343334 rek 334
2X = 355834 = x = B4 = SrEE

D 3tb A+ +999 = 3-55, 6l ://éé,-‘BB'S }
2. Describe a pattern with the following sequences, then give the next 3 terms. (4 points each)
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The table shows the change in the price of a stock. At the end of the week, the price was $35.98.
a) What was the price of the stock at the end of the day on Wednesday? (6 points)
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b) What was the price of the stock at the beginning of the week
(i.e. Monday morning)? Tuesday + $0.09
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p represents the statement: Today is Wednesday. q represents: It is raining. Express the following
symbolic statements in ordinary language. (3 points each)
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For the statement: Ifa Democrat becomes our next president, then many Americans will celebrate.
Give the: (3 points each)
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d) Which one is logically equivalent to the original statement?
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6. Use a truth table for the following statements to determine which, if any, are logically equivalent.
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7.  If pisa True statement, g is False, and 7 is unknown, then determine the truth value of the following
statements (as True, False, or Indeterminate). (3 points each)
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8. Complete the truth table or the following argument to help determine its validity. (7 points)
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9.  Use quantifiers to write statements that represents the information shown in the diagram. (6 pts)
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List the elements of the following sets and give the cardinality. (8 points)
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11. Give a set-builder notation for each set.
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A collegiate tennis team consists of 6 members. Two players must be selected to play doubles. How
(5 points)

many different doubles teams are possible?
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Bonus: A snail is at the bottom of a well which is 30 feet deep. During the day the snail climbs up the
wall 3 feet, but slips back down 2 feet at night. How many days does it take the snail to reach
i (3 points)

the top of the well? Explain!
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